

# Beerburrum State School

Student Resource Scheme (SRS) & 2026 Booklists

#### Student Resource Scheme (SRS)

This scheme operates to provide parents with a cost effective alternative to purchasing textbooks and/or resources. The scheme ensures that students have the resources required for them to engage with the curriculum for their education, and saves parents time and money in sourcing the prescribed materials elsewhere. Savings are gained through the school's bulk purchasing practices and hiring arrangements. The scheme is not used to raise funds for other purposes, and revenue collected through the scheme is applied only to the resources and operation of the scheme. The scheme's operation, resource inclusions and participation fees are approved by the school's P&C Association.

For our new families, parents are required to complete and return the SRS Participation Agreement. If no participation form is received, the school will take the view that the parent has chosen to opt out of the SRS. The parent is then required to provide all the educational resources listed in the SRS for their child by the start of the school year. A parent can opt in or out of the scheme in subsequent years by completing another Participation Agreement Form. A completed SRS Participation Agreement form only needs to be completed when your child starts and it will be for the term of the enrolment.

# 2026 SRS (Student Resource Scheme) Prep to Year 3 - \$100.00 Year 4 to Year 6 = \$80.00

#### **Option A: (Preferred)**

Resources on the booklist are provided by the school as this enables the school to source the items in bulk. Stationery items will be provided by the parents. Each resource pack will be allocated per student participating in the scheme and agreeing to make payment for the scheme to the school.

#### **Option B:**

Purchase of all own resources. Preferences for stationery are indicted on the booklist. For continuity of teaching please buy the textbooks as listed on the booklist. Resources will not be provided by the school.

#### **Financial Hardship**

Parents experiencing financial hardship who wish to participate in the SRS should contact the school to discuss available options in confidence.

#### **Payment Arrangement**

Several payment options including a single payment for the full year's fee or term instalments are available. An instalment plan can also be negotiated with the school.

Kind regards

Amanda MacKellar Principal



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.					
Item Quantity Price per item \$ Total					
HB Staedtler Pencils	12	\$0.94	\$11.28		
Felt Pens - 12 pack	1	\$4.50	\$4.50		
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98		
Twist up Crayons – 12 pack	1	\$5.98	\$5.98		
Sharpener (2 hole)	1	\$1.75	\$1.75		
Scissors (blunt end) left or right handed	1	\$3.75	\$3.75		
Glue Sticks 35g/40g	8	\$1.00	\$8.00		
Wooden Ruler	1	\$1.25	\$1.25		
Erasers (small)	2	\$0.50	\$1.00		
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00		
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90		
Library bag	1	\$5.90	\$5.90		
TOTAL			\$59.29		

Items to be provided to students under the Student Resource Scheme (SRS)				
Item	Quantity	Price per item \$	Total	
A4 Writing Pad 8mm wide blue lines 48pg	4	\$1.65	\$6.60	
Writer premium storybook 24mm plain/ruled 64pg	1	\$2.75	\$2.75	
Scrap Books 96 page	7	\$1.70	\$11.90	
A4 Plastic Document Wallets	4	\$0.90	\$3.60	
Whiteboard Eraser	1	\$1.97	\$1.97	
Box of Tissues	1	\$2.64	\$2.64	
My First Dictionary	1	\$15.90	\$15.90	
Headphones with microphone	1	\$19.00	\$19.00	
Subscriptions (Reading Eggs)	Per Student	\$34.00	\$34.00	
Photocopying	Per Student	\$30.00	\$30.00	
Craft Resources	Per Student	\$20.00	\$20.00	
TOTAL			\$148.36	
Amount charged under SRS			\$100.00	



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.					
Item Quantity Price per item \$ Total					
HB Staedtler Pencils	12	\$0.94	\$11.28		
Felt Pens - 12 pack	1	\$4.50	\$4.50		
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98		
Twist up Crayons – 12 pack	1	\$5.98	\$5.98		
Sharpener (2 hole)	1	\$1.75	\$1.75		
Scissors (blunt end) left or right handed	1	\$3.75	\$3.75		
Glue Sticks 35g/40g	8	\$1.00	\$8.00		
Wooden Ruler	1	\$1.25	\$1.25		
Erasers (small)	2	\$0.50	\$1.00		
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00		
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90		
Library bag (can use last years)	1	\$5.90	\$5.90		
TOTAL			\$59.29		

Items to be provided to students under the Student Resource Scheme (SRS)			
Item	Quantity	Price per item \$	Total
A4 Exercise Book Year 1 red/blue lines 48 pg	4	\$1.65	\$6.60
Scrap Books 96 page	7	\$1.70	\$11.90
A4 Plastic Document Wallets	4	\$0.90	\$3.60
Box of tissues	1	\$2.64	\$2.64
Whiteboard Eraser	1	\$1.97	\$1.97
My First Dictionary	1	\$15.90	\$15.90
Headphones with microphone (new students)	1	\$19.00	\$19.00
Subscriptions (Reading Eggs)	Per Student	\$34.00	\$34.00
Photocopying	Per Student	\$30.00	\$30.00
Craft Resources	Per Student	\$20.00	\$20.00
TOTAL			\$145.61
Amount charged under SRS			\$100.00



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.					
Item Quantity Price per item \$ Total					
HB Staedtler Pencils	12	\$0.94	\$11.28		
Felt Pens - 12 pack	1	\$4.50	\$4.50		
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98		
Sharpener (2 hole)	1	\$1.75	\$1.75		
Scissors (blunt end) left or right handed	1	\$3.75	\$3.75		
Glue Sticks 35g/40g	8	\$1.00	\$8.00		
Wooden Ruler	1	\$1.25	\$1.25		
Erasers (small)	6	\$0.50	\$3.00		
Large Pencil Case	1	\$6.50	\$6.50		
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00		
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90		
Library bag (can use last years)	1	\$5.90	\$5.90		
TOTAL			\$61.81		

Items to be provided to students under the Student Resource Scheme (SRS)			
Item	Quantity	Price per item \$	Total
A4 Exercise Book Year 2 red/blue lines 48pg	8	\$1.10	\$8.80
Scrap Books 96 page	3	\$1.70	\$5.10
A4 Display Folders	1	\$2.95	\$2.95
A4 Plastic Document Wallets	2	\$0.70	\$1.40
Whiteboard Eraser	1	\$2.75	\$2.75
Box of Tissues	1	\$2.64	\$2.64
My First Dictionary (new students)	1	\$15.90	\$15.90
Headphones with microphone (new students)	1	\$19.00	\$19.00
Subscriptions (Reading Eggs)	Per Student	\$34.00	\$34.00
Photocopying	Per Student	\$30.00	\$30.00
Craft Resources	Per Student	\$20.00	\$20.00
TOTAL			\$142.54
Amount charged under SRS			\$100.00



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.			
Item	Quantity	Price per item \$	Total
HB Staedtler Pencils	12	\$0.94	\$11.28
Felt Pens - 12 pack	1	\$4.50	\$4.50
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98
Sharpener (2 hole)	1	\$1.75	\$1.75
Scissors (blunt end) left or right handed	1	\$3.75	\$3.75
Glue Sticks 35g/40g	8	\$1.00	\$8.00
Wooden Ruler	1	\$1.25	\$1.25
Erasers (small)	6	\$0.50	\$3.00
Artline pen fineline 0.4mm black	1	\$3.78	\$3.78
Red ballpoint pen	4	\$0.96	\$3.84
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90
Garden Gloves (Gardening Program)	1	\$3.50	\$3.50
https://www.bigw.com.au/product/garden-sense-kids-garden-			
gloves/p/6015829			
Large Pencil Case (2 zips) 30cm	1	\$6.50	\$6.50
TOTAL			\$67.03
Items to be provided to students under	the Student Reso	ource Scheme (SR	S)
Item	Quantity	Price per item \$	Total
A4 Exercise Book Year 3 lined 48pg	10	\$1.10	\$11.00
Scrap Books 96 page	1	\$1.70	\$1.70
Grid book A4 – 10mm squares 48pg	3	\$1.59	\$4.77
A4 Display Folders	1	\$2.95	\$2.95
A4 Plastic Document Wallets	2	\$0.70	\$2.80
Headphones with microphone (new students)	1	\$19.00	\$19.00
Box of Tissues	1	\$2.64	\$2.64
	l I	¥-151	Ψ=.σ.
Whiteboard Eraser	1	\$2.75	\$2.75
Whiteboard Eraser Subscriptions (Reading Eggs)	·		
	1	\$2.75	\$2.75
Subscriptions (Reading Eggs)	1 Per Student	\$2.75 \$34.00	\$2.75 \$34.00
Subscriptions (Reading Eggs) Photocopying	1 Per Student Per Student	\$2.75 \$34.00 \$30.00	\$2.75 \$34.00 \$30.00



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.			
Item	Quantity	Price per item \$	Total
HB Staedtler Pencils	12	\$0.94	\$11.28
Felt Pens - 12 pack	1	\$4.50	\$4.50
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98
Sharpener (2 hole)	1	\$1.75	\$1.75
Scissors – left or right handed	1	\$3.75	\$3.75
Glue Sticks 35g/40g	8	\$1.00	\$8.00
Wooden Ruler	1	\$1.25	\$1.25
Erasers (small)	6	\$0.50	\$3.00
Artline pen fineline 0.4mm black	1	\$3.78	\$3.78
Red ballpoint pen	4	\$0.96	\$3.84
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90
Garden Gloves (Garden Program)	1	\$3.50	\$3.50
https://www.bigw.com.au/product/garden-sense-kids-garden-			
gloves/p/6015829			
Large Pencil Case (2 zips) 30cm	1	\$6.50	\$6.50
TOTAL			\$67.03

Items to be provided to students under the Student Resource Scheme (SRS)			
Item	Quantity	Price per item \$	Total
A4 Exercise Book Year 4 ¾ lines 48pg	10	\$1.10	\$11.00
Grid book A4 – 10mm squares 48pg	3	\$1.59	\$4.77
Box of Tissues	1	\$2.64	\$2.64
A4 Plastic Document Wallets	4	\$0.70	\$2.80
Headphones with microphone (new students)	1	\$19.00	\$19.00
Whiteboard Eraser	1	\$2.75	\$2.75
Subscriptions (Reading Eggs)	Per Student	\$34.00	\$34.00
Photocopying	Per Student	\$30.00	\$30.00
Craft Resources	Per Student	\$20.00	\$20.00
TOTAL			\$126.96
Amount charged under SRS			\$80.00



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.			
Item	Quantity	Price per item \$	Total
HB Staedtler Pencils	12	\$0.94	\$11.28
Felt Pens - 12 pack	1	\$4.50	\$4.50
Coloured Pencils Crayola - 12 pack	1	\$3.98	\$3.98
Sharpener (1 hole metal)	1	\$0.50	\$0.50
Scissors – left or right handed	1	\$3.75	\$3.75
Glue Sticks 35g/40g	4	\$1.00	\$4.00
Wooden Ruler	1	\$1.25	\$1.25
Erasers (small)	2	\$0.50	\$1.00
Artline pen fineline 0.4mm black	2	\$2.78	\$5.56
USB 4GB	1	\$6.40	\$6.40
Red ballpoint pen	4	\$0.96	\$3.84
Highlighters (4 pack)	1	\$5.25	\$5.25
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90
Garden Gloves (Gardening Program)	1	\$3.50	\$3.50
https://www.bigw.com.au/product/garden-sense-kids-garden-			
gloves/p/6015829			
Large Pencil Case (2 zips) 30cm	1	\$6.50	\$6.50
TOTAL			\$73.21

Items to be provided to students under the Student Resource Scheme (SRS)			
Item	Quantity	Price per item \$	Total
A4 Exercise Book 48 pg	6	\$1.10	\$6.60
Grid book A4 – 10mm squares 48pg	3	\$1.59	\$4.77
Manilla Folders	5	\$1.10	\$5.50
A4 Plastic Document Wallets	2	\$0.70	\$1.40
Box of Tissues	1	\$2.64	\$2.64
Maped Compass	1	\$2.66	\$2.66
Headphones with microphone (new student)	1	\$19.00	\$19.00
Photocopying	Per Student	\$30.00	\$30.00
Craft Resources	Per Student	\$20.00	\$20.00
TOTAL			\$92.57
Amount charged under SRS			\$80.00



Items to be purchased by parents (based on costs from Officeworks)  Note: items can be purchased from other suppliers or bought in from home if you have items already.			
Item	Quantity	Price per item \$	Total
HB Staedtler Pencils	12	\$0.94	\$9.60
Felt Pens - 12 pack	1	\$3.42	\$3.42
Coloured Pencils Crayola - 12 pack	1	\$3.25	\$3.25
Sharpener (1 hole metal)	1	\$0.50	\$0.50
Scissors – left and right handed	1	\$2.25	\$2.25
Glue Sticks 35g/40g	4	\$1.20	\$4.80
Wooden Ruler	1	\$0.50	\$0.50
Erasers	2	\$0.60	\$1.20
Artline pen fineline 4mm black	2	\$2.78	\$5.56
USB 4GB	1	\$6.40	\$6.40
Red ballpoint pen	4	\$0.96	\$3.84
Highlighters (4 pack)	1	\$5.25	\$5.25
Whiteboard (200mmx300mm)	1	\$6.00	\$6.00
Expo Whiteboard Markers – 4 pack	1	\$5.90	\$5.90
Garden Gloves (Gardening Program)	1	\$3.50	\$3.50
https://www.bigw.com.au/product/garden-sense-kids-garden-			
gloves/p/6015829			
Large Pencil Case (2 zips) 30 cm	1	\$6.50	\$6.50
TOTAL			\$62.72

Items to be provided to students under the Student Resource Scheme (SRS)					
Item	Quantity	Price per item \$	Total		
A4 Exercise Book 48 pg	6	\$1.10	\$6.60		
Grid book A4 – 10mm squares 48pg	3	\$1.59	\$4.77		
Manilla Folders	5	\$1.10	\$5.50 \$1.40 \$2.66		
A4 Plastic Document Wallets	2	\$0.70			
Maped Compass	1	\$2.66			
Box of Tissues	1	\$2.64	\$2.64		
Headphones with microphone (new students)	1	\$19.00	\$19.00		
Photocopying	Per Student	\$30.00	\$30.00		
Craft Resources	Per Student	\$20.00	\$20.00		
TOTAL			\$92.57		
Amount charged under SRS			\$80.00		